
Pop-up Camper Rack
Instructions
1. Bolt the (4) Cross Frames (2 left and 2 right) using the 1/4” x 1” bolts, 1/4”  lockwashers and 1/4”nuts.
2. Bolt the (2) main frames to the Cross Frame using the 1/4” x 1” bolts, 1/4” flatwashers, 1/4” lockwashers, and

1/4” nuts, and slide the (4) D-rings onto the cross frame.
3. Bolt the (2) end frames and (2) legs to the cross frame using (4) 5/16” x 2-1/4” bolts, 5/16” lockwashers and

5/16” nuts, as shown in Fig.1.
4. Bolt the (4) posts to the main frames using the (4) clips, 5/8” post bolts and 5/8” nuts.
5. Bolt the tire rails to the end frame and the main frames using the 1/4” x 1” bolts, 1/4” lockwashers and 1/4” 

nuts. Adjust using hole A, B or C to fit bike tires. See Fig. 2.
6. Attach the (4) footman loops to the camper using screws provided on either the top (3a) or sides (3b) of the

camper as shown in Fig. 3 Keep 1/2” from edge, and caulk around brackets and screws.
7. Secure bike carrier using four nylon straps from D-rings to footman loops. See Fig 4.
8. Make sure straps are secure before each use. Straps may loosen in rainy weather or from sitting between 

uses.
9. Set bike tires into the tire rails, one bike to the right and one bike to the left. Smaller bikes should be to the 

inside.
10. Put elastic strap around post and bike tire located in center of bike carrier. Fasten by placing hook over end

of strap. Take opposite end of strap through spokes of remaining bikes to bike on other side of bike carrier 
and draw tight. Follow same procedure for fastening other end to the bike carrier.

WARNING: You must make sure that the camper top is capable of supporting the weight of the bike
carrier and any bicycle placed on it. You should determine the maximum camper top weight capacity
from the camper top manufacturer or dealer. If you exceed the camper top’s weight capacity, serious
damage to the camper top may result. In no event should the total weight placed on the camper top
exceed 140 lbs.

Exceeding the weight capacity of the camper top is a misuse of the bike carrier. Danik is not responsible
for any consequences of such misuse.

Even proper use of the bike carrier within the weight capacity of the camper top may result in nicks,
dents, scratches or other damage to the camper top surface for which Danik is not responsible.

DANIK SPECIFICALLY DISCLAIMS ANY WARRANTY OF MERCHANTABILITY, FITNESS OR SUITABILITY
FOR A PARTICULAR PURPOSE WITH RESPECT TO THE GOODS BEING SOLD, I.E., THE BIKE CARRIER
AND ITS COMPONENTS.

Danik further disclaims all liability for any damage, which may be caused to the camper top as a result,
in whole or in part, of the bike carrier and/or any bicycles placed on it.

PAGE  1

80550

Danik Industries Ltd.
300 - 1880 Government St.
Penticton, B.C. V2A 7J1

Phone (250) 490-8883
Fax (250) 490-8885
www.swagman.net



Pop-up Camper Rack
Instructions (Diagrams)

PAGE  2

Leg

D-Ring

5/8" Post Bolt

1/4" x 1" Bolts
1/4" Lockwasher
1/4" Nuts

5/8" Nut

Main Frame

5/16" x 2-1/4" Bolt

5/16" Lockwasher

Post

Incap

Tire Rails

Cross Frame

End Frame

1/4" x 1" Bolt

1/4" Lockwasher

1/4" Nut

Clip

A - Touring
B - Standard
C - Mountain

A BC CBAA BC CBA

Tire Rails

Figure 1

Figure 2

Hardware

4 5/8” x 4” Post Bolts
4 5/8” Nuts
4 5/16” x 2-1/4” Bolts
4 5/16” Lockwashers
8 Wood Screws
32 1/4” x 1” Bolts
32 1/4” Lockwashers
32 1/4” Nuts
4 1/4” Flatwashers

Parts

4 Posts
4 Cross Frames - 35 3/4”
2 Main Frames - 27 3/4”
2 End Frames - 25 1/2”
12 Tire Rails - 22 1/2”
2 Legs
4 Nylon Straps
4 Footman Loops
4 D-Rings
4 Incaps
4 Elastic Straps
4 Clips

80550

Danik Industries Ltd.
300 - 1880 Government St.
Penticton, B.C. V2A 7J1

Phone (250) 490-8883
Fax (250) 490-8885
www.swagman.net



Pop-up Camper Rack
Instructions (Diagrams)

PAGE  3

Figure 3

D-Ring
and Nylon StrapFootman Loops

Top
Mount (3a)

Side Mount (3b)

or

Open buckle and thread the strap through as shown, being sure strap is threaded from the bottom and then
through the buckle under the teeth, heading in the opposite direction. Close buckle. To secure, tie a solid knot
by wrapping the end of the strap under the bottom and over the top, and pulling down through the opening. Pull
hard for a tight knot.

Figure 4

80550

Danik Industries Ltd.
300 - 1880 Government St.
Penticton, B.C. V2A 7J1

Phone (250) 490-8883
Fax (250) 490-8885
www.swagman.net


